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DO NOW: 
Solve the quadratic equation using the method 
of your choice. 

w2 ­ 6w = 20 ­ 5w 
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If the discriminant is....

A (positive) perfect square
real, rational and unequal roots

A (positive) non­perfect square
real, irrational and unequal roots

Zero
real, rational and equal roots

Any negative number
no real roots

Apr 20­6:27 PM

What is the value of the discriminant?  

How many solutions does the quadratic have? 

Conclusion:
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What is the value of the discriminant?  

How many solutions does the quadratic have? 

Conclusion:

Apr 20­6:32 PM

What is the value of the discriminant?  

How many solutions does the quadratic have? 

Conclusion: 
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What is the value of the discriminant?  

How many solutions does the quadratic have? 

x2 ­ 2x = 1

Conclusion:
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